. -w v L
3 4 N N
c 5
2 i
£ J [ ' 2
F 24 v oS
G /2 ' ..m...» ,..h
| & Lo
V] 7 EIS
X 7 o
£ & .
PorGG| | | ESv/A, NOTE 5. Lo
5 A ' :
7 3
17 3
% z
X / ot .
._A V\ K3 . .. N
Tz 13 :
a4 | 3 ,
cc | 3 ) -
EE g o
FE N ' hb
A | & _ s
d i R
e / F5-/4, NOTE 2
m I
P | 3
QK & '
ote: T R L
’ ICENTER. PHASE OU PANKL WILL HAVE - -
. EPOXY INAULATOR. | KEARNEY * %2015 -2% . b
n ING. (REF.- REFER. TO DRUKY. ES-2D) :
;. 2. ALL WIRE FROM POIMNT "U* WiLL rog
J IMNGULATED TYPE LIRE ON TRANSGFORMER-
T PANK,,
[
___ DATE: TITLE: :S/AVGLE £O/E SUBSTA.
_ 1 , 72137/ I PH, TRANS, TLUSTER MCUNT ,
) . o ; i X DRAWN BY: J\Xb PRIM DEAD-END - 12500/ 480 V. ACSR
70 WELL WEAD - 4 . , L W , A
. ~3 ‘ - o ) . N BY:
. S R iz Gomoco)
. _ =0 y CHECKED B0 PRODUCTION DEPT. ] HOBBS DIVISIO
’ N IV . JoB: DRAWING NO.t ‘
~ - _ ... | appPrOVED BY: : L e
Ty - .o 4 ELEC SPECS - E£S5-9
(. DR - Fseaer o v i
‘ b P n T NONE _




N — — e et e e

]

T Y
1ITEM DESCRIPTION A, B, CHANCE NO. JOSLYN NO, OTHER NO,
MFRS, NO, SUB.
A 35' class 6 creosoted pine pole '
B 3 1/2" x &4 1/2" x 8' treated crossarm
C Yigh density wet process porcelain pin insulator L 63
D 5787 x 5" Forged steel pin w/sq. washer, nut, & X
locknut g8/ !
E 5/8" x 12" machine bolt w/ nut (or lenpgth req’d) 88/2 i
F 2 1/4" x 2 1/4" x 37/16" x 11/16" hole sq. washer 6813
G 5/8'" MF Locknut 35/Z
H 1/6" x 1 1/4" x 28" flat Crossarm Brace 7/28
J 1/2" x 4" EZ Fetter Drive Log Screw 50875% N
X 3/8" x & 1/2" Carriage Bolt w/ Nut 6634 12 ;
| L 3/8" MF Locknut 35/0 :
M Preformed Aluminum Alloy Armor Rods,. size req'd )
N tie wire #6 strong alum. alloy
0 Epoxy Tnsulator Amxnmsmwbmﬁ»:rv KEARNEY %3L10Z560 Y
P 35' class 5 creosoted pine pole .
R Aluminum double tab Squeeze on Connector : )
for ACSR, Aluminum, or Copper-size req'd i KEARNEY SERIES "81" X
S 6" Suspension Insulator L6100
T 5/8" Standard Oval Eye Nut 502
U Primary Dead End Clamp . LPO5Q
W 5/8" x 18" (or length req'd) Double Arming Bolt 2 ;
w/4 8q. nuts 8gé '
X guying detail - see dwg No, ES-10 for specs.
Y Hot Line Clamp S/520A46F
2 Squeeze on basket, size required KEARNEY X
1
1
. ]
i
) : D : ——
“ ATE  srys TITLE
: SRAT BT DESCRIPT/ON
E.WINTER
DESIGN BY: con
JoB:
APPROVED BY:
ELEC SPECS
SCALE:
NONE
— S




ITEM DESCRIPTION A, B, CHANCE NO. JOSLYN NO. OTHER NO
MFRS, NO. SUB.
AA Primary Cutout - 100 amp, 15 KV, 16000 amp int, cap. FRXXIOISG X
BB General Purpose 'U" bolt Clamp /CS]OAGR
CC_| _Lightening arrestor, 10 KV
)] Single phase oil switch, 14.4 KV MYRAW-EDISON KNMC 2
FE split bolt connector, size req'd BLACKBUKN " SERIES .
FF grounding specs. see dwg No. £ES-11 & ES-1A, Note 3 [
GG 35' class 4 creosoted pine pole .
HH Aluminum deadend Preforms for ACSR, size req'd
JJ 30" class 6 creosoted pine pole "
KK OVERHEAD GRND, #4 ACSR - If Req'd - Ref. Dwg ES-11,
FS-1A - Note 3
LL ground connector, motor BUKNDY K(-2Z X .
MM 600 V. secondary lightening arrestor sinple phase .
NN Greenfleld Type EF liquid-tipght flexible steel *
conduit, sizae req'd, w/ necessary liquid-tight
connectors,
00 req'd size LB fitting & cover & gasket
PP transformer tank grounding terminal GW3-/5
Q Bird Guards (insuiating boots on transformer bushings) Eman.wfammNWm
DATE o .
H 1
. 12-27-77 TITLE
DRAWN BY: DESCRIPTION MATER/AL P
£ WINTER  reese——
DESIGN BY:

(conoco)

CHECKED BY:

PRODUCTION DEPT. HOBBS DIVISIC

JOB: DRAWING NO. .

APPROVED BY:

T ESYTTT

FLEC SFECS T

CALE:
SCALE NONE

SHEFT 2 OF X




< —

1ITFM

DESCRIPTION

A. B, CHANCE NO,

{JOSLYN NO,
i '

OTHER NO.
MFRS. NO. SUB,

double upset bolt s/sq. nut, round washer, and
cotter key on short end, sq. nut and MF locknut
on long end, 15 1/8" long (or length required.)

wet process porcelain secondary spool insulator,
3", brown glaze

required size conduit w/ servicehead(s) & req'd
size & rated insulated conductors. Ref. Dwg ES-1B
Note: provide clamp and pround conduit

parallel groove clamp, size req'd

BURNDY SERIES UC”

secondary insulator clevis for 4" {nsulator

378" thimbleye nut

L5/0

=ab ]

378" x 12 (or length req'd) straight thimbleye
bolt w/sq. nut I

55/2

transformer cluster mount bracket (small)

AUMATORM 6M3-6 | X

trans former cluster mount bracket (large)

ALIMA-FORM 15M3-6 X

req'd size raintight disconnect & fuses, 3-phase,
600 V, Ref, Dwg No, ES-1B

16" cross plate anchor (or size req'd)

X-le

8-way expanding anchor (size req'd)

88135

' faip e

(2l %]

4" brown glare wet process porcelain secondary
spool {insulator

Jarol

5/87 x 7' thimbleye anchor rod w/nut (use twineye
1f req'd - Chance No. 5347)

5317 (WUT 55006P)

3/8" high strength guy uﬂnmsa.H%waoo 1b,)

preformed guy grip_ for 3/8" guy strand

578" x 10" anpgle thimbleye bolt w/nut

5010

3"x3"x1/46"x11/16" hole curved washer

B3 V2

6" - guy clamp w/3-1/2" bolts

-

medium size strain insulator

serving sleeve for 3/8" guy strand

6454

3/16" x 2-1/2" x 7" 1ift plate

7887

pole bottom ground plate (may use butt-wrapp Lf

RN TUPT  O

desired) I

3

Ground Connectlon (See Dwg. ES-12) o

wet process porcelain secondary spool ingulator,
3" - white glaze

wet process porcelain secondary spool insulator,
4" - white glaze

DATE:
I12-27-77

DRAWN BY:

£ WINTER

S
TITLE:

DESCRIPTION MATERIALS L

DESIGN BY:

CHECKED BY:

(conoco)

PRODUCTION DEPT. HOBBS DIVISION

APPROVED BY

CALE:
SCAL NONE ~

JoBs: DRAWING NO& ¢

C ES

LLEC SPECS

- gt .




MATERIALS
DESCRIPTION
oLE LENGTH, CLAGA
ANZHOR,  B" z
ANCHOR Rob B/e"'x T 2z
LUY ATACHMEUT, PIZ3A 7
LUY _APILE | Ho" U4,
LUY WHULATOR. | €06
EPORY INSULATOR., VEARNEY * 225006 - 2%
LLAMP | %-POLT
aUY LR\, P/eh
10| croFo ARM | @'
| 11| PRALE, 22" 4PA,
12| LAG sereWd | A1
1% | STEEL, PIMN " x 5"
14 RAL K., 1= POINT
15| SR0OL |WEAILATOR. | 28
6 POLT, D.A. %"« 12"
11| POLT, MALH., 3/%" w WY2"
o | poLT, MACH . %o« 10"
8 [ PoOLT, MACH. | Pe" e 12"
70 | ENYE _NUT , 5/%"
WASHER. | 274" FLAT
IWASHER %' (URVED
LOCK- WU, */"
24| LocK yuT, Y/s"
e |, ALL. JUMPERS O (OMDUCTOR 7% | PRAGE LONDUCTOR. NO, o o

m FHAGES WILL OB INCULATED 76 | MEUTRAL (ONDUCTOR WD.
TYPE WIRE. 27
_7e

X

4UY LEADS wiLL P 1t

ON AMgLE®S oF 80°-90°
AHD 4:2 O ANGLES OF
60°-14°

=
é
\
%7
s
Ak
(3|

Bt

[N}
'
3

>

_nw-:cr\y\t\)!t’-'ﬁ

> 6"

PREE DE , 0.
PREF, DE, HO.
24 | LLEVIS “THIMPBLE

2oTHIS CONGATRUICTION  STAHDARD

70 PE ULED 6N ALL UNES PalLT 20 | JUMPER. DLEEVE, NO: s
" | cONECTORS (5.0, HML., AL,
OM MATIOMAL. RESOURLE LANDS, R 0 M
2. T MOT WEITALL 4ROLIND LUIRE VL | WHBULATOR. |, P
PAGT NEUTRAL LONDUCTOR-, %% | MSULATOR., O DIt
2 | TIE UlRE, No. B AL,

f@wﬂvav\lgowﬁvﬁN@cNNNew:owNN

S

DATE: H
T TITLE Do MARY AMALE STRUCTURE.
DRAWN BY: . LOP-A0° V2800 NOLT ABR
Vel
CHEGKED BY: _ ) PRODUCTION DEPT. HOBBS DIVISIOH
il JOB: DRAWING NO. ,
APPROVED BY: /-
SV ) :
ELLiL, “PELS, ES-27.:.. .
SCALE: .
tinte

Ce

i



IXE X

Y.
QD

NS E!
X

RO N Lol S R REY B

NOTE ¢
FOP. MATERIALS , SEE
TDRWGZ. . ES-
e
PATE! 1151 HTLE:
DRARN BT EPOXY WOULATOR (EXTELHICH LINK)
1. moerei
DESIGN BY:

(concco)

CHECKED BY: \.K PRODUCTION DEPT,
O

-

Ed

KOBBS DIvision

J0o8: , DRAWING NO.
APPROVED BY: .\\ .
]

H m*\mv. §~
SCALE v

o
R




